(Axt = 525 4 3x2 —dx + 1) = (22 - x + 1) S A4 shge o, 23}
ez e) @2 oo

@4x2—6x+1 @ 4x2-7x+3 ® 4x2—4x+5

@ 4x2-8x+2 ® 4x2 -6x+7

213 Yol A gt
Bi4x? —x-2, YA —5x+3
ST YR Y] T 4x? - 6x+ 1




x o e thdAl A = 2% + 5x% + 4 B ThFA] B & U o, Fol
Al B 9

2x+ 1 012, Y47} —6x + 2 o]t o] of, thghA]
@x2+2x+2 @ ¥ +x+2 ® ¥ —x+2
@ x2—9x+2 ® x> -3x+2

B |
A=B(2x+1) - 6x+2 oA
B(2x+1) = 2x° + 5x% + 6x + 2
©B=(26° +522 +6x+2)+ (2x+1)
=x2+2x+2




T oA A7 AR E A2

ot

mlo

O (x+1)(x-x+1)=x3+1
@ (a+2b-3c)* = a®+ 4b% + 9¢2 + 4ab — 12bc — 6ac
® (x+2)(xP-2x+4)=x3+38
Q(XQ_xy+y)(x2+xy+y2) =x4—x2y2—|—y4

©® (x-

DPx+1)2=x*-2x2+1

@ (2 -xy+y*) (P +xy+y?)
= (2 +y*)? - (xy)?
— x% 4 a2)2 4yt




4., MNP A=x2+43x-2 B=32-2x+1,C=4x2+2x-3
tfj 5o
3A - {5A — (3B - 4C)} + 2B & 7tHs| 51?2
@ 3x2+12x-13 @ -3x%2+24x+21
® 3x2-12x+21 C@)—sz —24x+ 21

® x24+12x+11

B ~
34— (5A — (3B — 4C)) + 2B

=-2A+4+5B-4C

=-2(x2+3x-2) +53x% - 2x + 1) —4(4x% + 2x - 3)

= -3x% - 24x + 21




_ 1 2 3 _
5. 2940 (v 1) (1424 2) A age

®24 @31 @ @4 ©sF




(=2x* + x> + ax+ b)? O] HAINA oA x3 O] A7 -8 W, a—2b 9]
29

AN o) AR YT o\l F, AT 44T
ol 217} 2744 Lhech,

(—2x3 xb) X 2 + (x* X ax) X 2 = (—-4b + 2a)x?

2a—4b = -8

L a—-2b=-4




A (2k+ 1)y - (k+3) x+10 = 0 ©] k] gtoll BAIRle] 4 4
S5 Sh= A4 x,y ol tiske] x4 y o] 3427

@ 5 @ ® 7 @ 8 ® 9

B

()= (y-3x+10)+ (2y—-x)k=0
S 2y=xy-3x=-10
Lx=4y=2

Lx+y=6




8.  xoll et okl +ax? + bx+30] k% + 1 & Lol Hold of, A<
meQE@ﬂ@

D a=-1,b=3 @ a=1b=3

®a=3b=-1 @ a=-3, b=-—

(@)a=3,b:1
B

x4+ ax? +bx+3
=2+ 1)(x+c¢)
=x3+c®+x+c
La=c¢,b=1,c=3
Wb =3, b=1




ShH?

o

1
W, x4 o gk

ko1
=

=
=

@ 19 ® 20 @ 21 ® 22

@

=33-3x3=18




10. hzpAe] dol7t 28014,

—_

w20 o] ] gl 176 A4
& FolA) ALEEE AL 9

@ (x—a)(x-b)(x-c)
= x%—(a+b+c)x* + (ab + bc + ca)x — abc
1
@ §{(a—b)2+(b—c)2+(c—a)2}
=a’+b>+c?—ab-bc—ca
@(a+b+c)2:a2+b2+c2—|—2ab+2bc+2ca
@ (x+a)(x+b)(x+c)
=x3+ (a+ b+ ¢)x* + (ab + bc + ca)x + abc
® (a+b+c)(a®+b* + c* —ab — bc - ca)
=a®+b% + 3 - 3abe

~&B ‘

A &HA o] 712 0] do], 2] 4 of
ZY7} a, b, c2F 51H A Q] Ao
Va + b2+ ¢ =28

LAl b+ =28%-..09

E, BE 2A2E] dolo gF2 176°0] 2%
4(a+b+c) =176

“a+b+c=44---©O
o] uff, Z-gA| 2] Byl ol 2(ab + be + ca) O] B2
(a+b+c)?=a?>+b?+c?+2(ab+bc+ca) - ©
42bA @, O ©oll tidste] 2R olE F5H4 11520tk

Hir
i

rr o,




11.

ohe S40] xo thet F5AYD W), A5a,b.c.do S a+bc+d
o ke TR (Fa<c

a<collM a#colB= Fo3 FA A
¥ -bx+1=(x-c)? b=2c, 1=c?
¥ -dx+1=(x-a)? .. d=2a 1=d°

ca=-1,b=2,c=1,d=-
ca+b+c+d=0




12.

2x? + 13x A B C
2] = + +
(x+2)(x-1)2 x-1 (x-1)2

o] % A% A, B, CO L& AT W, A+ B+ C O] ke

ol

@ 6 @ ® 8 @ 9 ® 10

S5 ~
Foll (x+2)(x-1)2& Fotd

2x% + 13x= A(x - 1)(x +2) + B(x + 2) + C(x — 1)? | A
x=1, -2, 0= A== tYdsto] A, B, CE F5H4
B=5C=-2A=4

L A+B+C=T7




—a-b+c
a—-b-c

a-b+c
a+b-+c

S

°la, b, coll o

1

N

_g]

gl

o Al

B
N
~H

15

T

~&B

mi AR
a-b+c)la-b-c)=(a+b+c)(-a-b+c)
a-b+c)la-b-c)+(a+b+c)la+b-c)=0

a—-b+c
at+b+c

Z)

={(a=b)+cH(a-b)—c}+{(a+Db)+cH(a+Db)-c}
=(a-b)?-c2+(a+b)?-c?

(
(
(

a? —2ab + b% — ¢ + a® + 2ab + b% — 2

2a® + 2b% — 2¢?
w2t 242 + 202 — 2¢2 = 09| B2 g2 + b2 = 2

Jgea ol




14. x—y=1°]12 2 +y? =-1¥4 0], x10 4 y13 9] ZF2 L}l

@1 @o ® 1 @ 2 ® -2

B

x—y=1°Ay=x-1
OJAL x2 +y? = -1 YUstH
2x2-2x+2=0
X-x+1=0
FHoll x+1& FotH, x3+1=0
X =1
Ex=y+1&x%+y>=-1°] dsIH
22 +2y+2=0, 2 +y+1=0. y>=1
X104y = (33 x4 (33) Ly
= (-1 -x+1%-y
=-(x-y)=-1




15. 2= Ag xof diotel(x - 11 = apx'® + a1x” + apa® + - +aro
ol 49 W, a; + a3 +as + ar + ag | 27 (1\:__]', a= 3, i =
0,1, 2,---,10)

® -2 @-2 0 @ 210 ® 2%

B ‘
Gl x =12 HUsH

ap+ar+as+---+ao=0---O

o] x = -1& F<loh

ap—ay+ag—-+ap=219--@

@© - @354 2(ay +az + -+ +ag) = 210
©ay+agt o tag = -2




